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1 Introduction
11  Objectives

= 2M= 20144 287 AZEQIO] JFst JHE Yol T47t JHEE  Public
Transportation System(PTS)& Unit Testingsl”Z| 2|$t A= EZA|O0|Ct T47F ™o|sh Unit
Testing2 +d35}7| 2l0 Testing Pass/Fail CriteriaE Mo|st1 O|& ast7| 23t Test

design & test casesE | Z}atCt.
1.2 Background

2014 2517 2 EQ0 <t B YoM JfHSt= RE PTS= SASDZ|EE 0|83t
of JHY=ICh 7|22 LR T Unit2 SRA, SDS 2A0| 25 HO|x|of UCH

1.3  Scope
SRA 58I SDS ZAM0| Mo|&l Unitg Testing$tLt.
14  Project plan
1.5 Configuration management plan
1.6  References
SRA3
SDS3
2 Test items

T47} SASD7|®HS 0|83}0] J§2st PTSE TestingStCh SAQF SDOjA £28H 2zt
process/module HZ TestingS & $tCt. <Figure 1 Overall DFD>2 SAE 0|83l 2+
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tH T2l0|0, <Figure 5 Structural Chart>2 SDO| X|&}& Basic Structural ChartE LIEFH
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3  Features to be tested
DS Y2 Y=o THLE N HAEDICL
4  Features not to be tested

OftH Unit Testof M= Sedtd] HHH= HAESHK| Y=Lt

rir

5 Approach

Brute Force, SRAQ| 7% o12| Level9| ProcessE| Testings A|&tSH0 A9 Level®| Process
THX| Testing$tCt
6 Item pass/fail criteria

B E Unit2 SRAO| HA|Zl Process Specificationdt S st ZItE ==o||of L. ZH UnitH
=
=

Pass/Fail Criteria= <Table2 Test Case Identification>
7  Unit test design specification
7.1  Test design specification identifier
PTS.UTC.Number
7.2  Features to be tested
7.3 Approach refinements

Zt Process Specification0| HA|El LHES 7|Ht2 2 Test Design I Test CasesZ A4 Ald|

et
7.4  Test identification
7.5  Feature pass/fail criteria
8  Unit test case specification
8.1 Test case specification identifier

8.2 Test items
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8.3 Input specifications

84  Output specifications

9  Testing tasks

Table 1 Testing tasks & Schedule

Ver. 1.0

Task Predecessor tasks Special skills Effort | Finish date
SRA ZtM 3
(1) Unit Test Plan %M SDS ZHM
DWS 3
(2) Test design specification Task 1 PTSO|| CHzt O3}
(3) Test case specification Task 2 PTSO|| CH3E O]
) Task 3 Test code &M
(4) Test execution N
Test toolsOf| CHEH O|3f
(5) Test result report Task 4 1
(6) 7HLEOf report & Task 5 1
10 Environmental needs
11 Unit Test deliverables
Unit Testing Report
12 Schedules
<Table 1 Testing tasks & Schedule> *%x
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Table 2 Test Design Identification-BH{ A

Identifier Feature Pass/Fail
PTS.UTC.1000 7M7F i SIS Al fA 7HE0 MEE JEE YUY o HYiF= R pass
PTS.UTC.1100 HEO ALK} FFEO|AM OHX|2OE Ef1 = A|7t HEE MEtsiC) Pass
PTS.UTC.1200 B2 AL 7HEO| MEE OX|Ho 2 Efd = wEH YEE ™ESHCL Pass
PTS.UTC.1300 W AFE X FPEO| KAE ORX|LoR Ej1 H S5k HES MU Pass
PTS.UTC.1400 o AFRXt FHEOf REE KO MHE MUt Pass
PTS.UTC.1500 Hh2 AEAL 7HEO| MZEHE OX|2o 2 EfO & StV MEE MYSict Pass
PTS.UTC.1600 FM7F IS E Al fX2 YYHE 2 FE2 20t HEE RO|M O|8Y = | Pass

A= Azfxz M2 NYS|EL Eot BlaE o AZtE 2 HYSECt
PTS.UTC.2000 Tag HEO|A UAS Wop YHN2S 3 3 242 HB0| SHSAHL MBS Sk | Pass
PTS.UTC.2100 S740| BKHE SHEX| SPALE BH=X|0f hatA case® LHeCh Pass
PTS.UTC.2200 S70| SX2 Y Of X|2B0F B QBAM & 239 L EX0f Mat 2t MY/ | Pass
53 gys s
PTS.UTC.2300 70| SIAHE e W XL0F T QBAM S HI/EH HAS SACY Pass
PTS.UTC 2400 MEO| CHSH YYOIS WORM 22 XShEI} HA THUY| HE KIA DpA0| 23 | pass
YEE ZINM MTE 5t 549 FIEFEN: T HEE ZosiM MES
stCt.
PTS.UTC.2500 E0| oiet BHOE ZorM QFur Sixf AlZto] ciet §EE EHRII(K7|Md EO| | Pass
2)0ll ==t}
PTS.UTC.1610 747 BIAE A2 Al RAe YHE w2 FE2 ZOM HEE RO|M 0|8 & | pass
T Ae NEFZE M2 MYSHECL EoF EfO oF AlZtS 2 MY FCoh e
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PTS.UTC.2120 FAE SAHO| CisHA 2t X[SHED HARALZ TS S0, FHE sHS =3 | pass

Table 5 Test case Identification-H{ A

Identifier Input Pass/Fail Criteria
PTS.UTC.1000 Oxm Ef SIS Al ©F Ftoo| MAE NMg

PTSUTC1100 | e x| 7ol D20 B0 8 N2 HoE Hgy

PTS.UTC.1200 \ o fﬂxf 9}501| MAE OXOZ B = mELCH HES MOSiC)

PTS.UTC.1300 \ HES ALK} FFEO| MEE OX|LOZ EjO = &3k MEE

PTSUTC1400 | W AFBX} 7t=0f MEE Fof M Morehct

PTS.UTC.1500 \ HES AL X} 9}501| XAE OpX|o 2 Ef1 S G| HEE MOsiC)

—

PTS.UTC.1600 X7t EfOE S Al X9 &

8% & U= NEFZR M2 X
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PTS.UTC1600.00 LastTagTime userinfoOf X%t
currentinfod| X%t
transportation
in_out

balance

terminalinfo

PTS.UTC.2000 Tag MEO|A Q2 ot HEXNZ|E o & 22 3lHY =35 AL NS

()

SHC}

PTS.UTC.2100 ‘ A7HO| AX% '6EI| [S]oNE= |-_X|01| [El—EHH caseZ LiF

PTS.UTC.2200

PTS.UTC.2200.00 | State =="case &X}" X% command ==fputa
=3 command==printf
PTS.UTC.2300

PTS.UTC.2300.00 | State == “Case oS}k}” X% command ==fputa
=3 command ==printf

PTS.UTC.2400

PTS.UTC.2400.00 | Interface= Testing H|2|

Team 4 16



PTS.UTC.2500

=HO0| oigh BN E ZOtA 2=t A AlZHO] Oigt YEE THERII(G7

A HOIE)0| ZHotC}

PTS.UTC.2500.00 | Interface= Testing X<

PTS.UTC.1610

PTS.UTC.1610.00

QX7 Bj1s
o 4+ Qe ABIZE 0E
EC Jde|m 3o £7)3)

LastTagTime == 7?77
Transportation ==777

in_out == ???

balance == ???
terminalinfo == ???
c.time != 03:00

S TOfM HEE oM O]
le w2 ME

Ver. 1.0

struct userlnfo

struct currentInfo

secTime

PTS.UTC.1610.01

PTS.UTC.1620

LastTagTime == 777
Transportation == ???

in_out == ???

balance == ???
terminalinfo == ???
c.time == 03:00

Trigger”=J13&t”

3277|000 A0l 50 |ATIE 0|9lo] EE X7|3tdts commandS

Team 4
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‘ *E#ol-l:

PTSUTC 1620.00 _

PTS.UTC.2110 70| &%}, a8 XL HEEZ A MEQF SIXIA|IZIS

PTS.UTC.2110.00 | Currentinfo. In_out == Trigger"& XtControl”
PTS.UTC.2110.01 | Currentinfo. In_out == Trigger"s}XtControl”
PTS.UTC.2210

PTS.UTC.2210.00 | Trigger “&XtControl” Trigger" ™At 2 & 2HS"

Currentinfo. In_out == 0

Userinfo.In_Out ==1

Userinfo.transportation ==1
Userinfo.terminalinfo[0] !="a’
Currentinfo.lasttagtime — userinfo.lasttagtime < 15
PTS.UTC.2210.01 | Trigger “&XtControl” Trigger"0| H A& 2tS"

Currentinfo. In_out ==

Userinfo.In_Out ==
Userinfo.transportation ==
Userinfo.terminalinfo[0] =="a’
PTS.UTC.2210.02 | Trigger “&XtControl” Trigger"0| M A& =t S"

[

Currentinfo. In_out == 0
UserinfoIn_Out == 0

Userinfo.transportation ==0

Team 4 18
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Userinfo.terminalinfo[0] != ‘a’

PTS.UTC.2210.03 | Trigger “&XtControl”
Currentinfo. In_out == 0
UserinfoIn_Out == 0
Userinfo.transportation ==1

[

Userinfo.terminalinfo[0] !=

Trigger"0| 7 &t& 2t

Olz

PTS.UTC.2210.04 | Trigger “&XtControl”
Currentinfo. In_out ==
UserinfoIn_Out ==1

Userinfo.transportation ==0

Enable"7| & 23"

PTS.UTC.2210.05 | Trigger “&XtControl”
Currentinfo. In_out == 0
Userinfo.transportation ==0

Userinfo.terminalinfo[0] == ‘a’

Enable"7| 2 @2"

PTS.UTC.2210.06 | Trigger “&XtControl”
Currentinfo. In_out == 0
Userinfo.In_Out == 1
Userinfo.transportation ==

Userinfo.terminalinfo[0] != ‘&’

Currentinfo.lasttagtime — userinfo.lasttagtime > 15
PTS.UTC.2220 AFE X7 o| &Moo ™AL }9}1\; A20

Enable"7| 2 @2"

OHQ |A|-0|- _c'>_

o
PTS.UTC.2220.00 | Trigger"JAt2t2&2t5"
Currentinfo. In_out == 0
UserinfoIn Out ==1

Currentinfo.balance == 0

Team 4
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PTS.UTC.2230

Userinfo.transportation ==1

Userinfo.terminalinfo[0] !="a’

Currentinfo.lasttagtime — userinfo.lasttagtime < 15

ALEXZE ZZ=|SO[AHLE O|TO| HAS FALE 2hsA|ZH0] H2 &4

i No]; K=) |:|. 7 EE‘IE x—||:|-4-|.| XE|-

PTS.UTC.2230.01

a1 = - —
Enable"7| & 23" Currentinfo.balance == 1050
Currentinfo. In_out == 0

Userinfo.In_Out ==

Userinfo.transportation ==

PTS.UTC.2230.02

Enable "7|2 22" Currentinfo.balance == 1050
Currentinfo. In_out ==
Userinfo.transportation ==

A1

Userinfo.terminalinfo[0] ==

PTS.UTC.2230.03

PTS.UTC.2240

PTS.UTC.2240.00

Enable"7| 2 @2" Currentinfo.balance == 1050
Currentinfo. In_out == 0
UserinfoIn_Out == 1
Userinfo.transportation ==1

Userinfo.terminalinfo[0] != ‘&’

Currentinfo.lasttagtime — userinfo.lasttagtime > 15
AFEAZE O g4

=
A = B 2HE
Trigger"0| F At&BHS" Currentinfo.balance == 1650

Currentinfo. In_out ==
Userinfo.In_Out == 0

Userinfo.transportation ==1

Team 4 20
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Userinfo.terminalinfo[0] =="a’

PTS.UTC.2240.01

Trigger"0| Y tta&ets”
Currentinfo. In_out == 0
Userinfo.In_Out == 0
Userinfo.transportation ==0

[

Userinfo.terminalinfo[0] != ‘a

Currentinfo.balance == 1650

PTS.UTC.2240.02

PTS.UTC.2250

Trigger"O| M A& Z2HS"
Currentinfo. In_out ==
Userinfo.In_Out == 0
Userinfo.transportation ==1

[

Userinfo.terminalinfo[0] != ‘a

Currentinfo.balance == 1250

PTS.UTC.2250.00

Currentinfo.balance == 0

Userinfo.balance == ???

Userinfo.balance>=500

Trigger"&= 2"

PTS.UTC.2250.01

Currentinfo.balance ==

Userinfo.balance == ???

Userinfo.balance<500

Enable"&2 ="

PTS.UTC.2250.02

Currentinfo.balance == 1050

Userinfo.balance == ???

Userinfo.balance>=1050

Trigger"s&"

PTS.UTC.2250.03

Currentinfo.balance == 1050

Userinfo.balance == ???

Userinfo.balance<1050

Enable"&2 ="

PTS.UTC.2250.04

Currentinfo.balance == 1250

Userinfo.balance == ???

Userinfo.balance>=1250

Trigger"&= 2"

PTS.UTC.2250.05

Currentinfo.balance == 1250

Userinfo.balance == ???

Userinfo.balance<1250

Enable" &2 &"
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PTS.UTC.2250.06 | Currentinfo.balance == 1650 Userinfo.balance>=1650
Userinfo.balance == 7?7 Trigger"s &
PTS.UTC.2250.07 | Currentinfo.balance == 1650 Userinfo.balance <1650
Userinfo.balance == ??? Enable" & &
PTS.UTC.2250.08 | Currentinfo.balance == 1750 Userinfo.balance>=1750
Userinfo.balance == 77? Trigger"s&"
PTS.UTC.2250.09 | Currentinfo.balance == 1750 Userinfo.balance<1750
Userinfo.balance == ??? Enable"&2 ="

PTS.UTC.2260 23FEQl 10 oH':o6|-E Jgg Afﬂﬂ- FHEQF THF 7|0 ZHZE X{EHA|F| D,

:LOH_I A|7}° *Ed'c')' =

PTS.UTC.2260.00 | Trigger'&£" X Command == fputa
=3 Command == printf

PTS.UTC.2270 —’g— E,LO_H, o] & of HZ= 21
PTS.UTC.2310 ANERI} SHAEE St3S oF SFQI=X|O| Of=0| Cf3tH
E2|7E 0t ZRMA0 % 60H§Ef.
PTS.UTC.2310.00 | Trigger "StAt Control” Trigger"D|2tEs Qa3 AL
Currentinfo. In_out == 1
Userinfo.In_Out == 0

Userinfo.transportation ==0
Userinfo.terminalinfo[0] =="a’
PTS.UTC.2310.01 | Trigger “S}AtControl” Trigger"2ts @3 A4
Currentinfo. In_out == 1
UserinfoIn_Out == 0

-
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Userinfo.transportation ==0
Userinfo.terminalinfo[0] !="a’

Currentinfo.lasttagtime — userinfo.lasttagtime < 30

PTS.UTC.2310.02

Trigger “S}XtControl”
Currentinfo. In_out == 1
UserinfoIn_Out ==
Userinfo.transportation ==

Userinfo.terminalinfo[0] !="a

Currentinfo.lasttagtime — userinfo.lasttagtime <60

Trigger'ets 22 A

Al_l'"

PTS.UTC.2310.03

Trigger "8} X}Control”
Currentinfo. In_out ==
Userinfo.In_Out == 0
Userinfo.transportation ==0
Userinfo.terminalinfo[0] !="a’

Currentinfo.lasttagtime — userinfo.lasttagtime < 90

b

rtot
ol
[0
oM

Trigger” A

AI_I_M

PTS.UTC.2310.04

Trigger “S}XtControl”
Currentinfo. In_out == 1
Userinfo.In_Out == 0
Userinfo.transportation ==0

Userinfo.terminalinfo[0] !="a

Currentinfo.lasttagtime — userinfo.lasttagtime < 120

b

riot
ol
fo
o

Trigger”

Akt

AI'"

PTS.UTC.2310.05

Trigger "5t XAtControl”
Currentinfo. In_out ==
Userinfo.In_Out ==

Userinfo.transportation ==

fot

Trigger'sts 22 A

r

AI_II

—
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Userinfo.terminalinfo[0] !="a’
Currentinfo.lasttagtime — userinfo.lasttagtime < 150
PTS.UTC.2310.06 | Trigger “&XtControl” Trigger"sts @3 A4

Currentinfo. In_out ==1

Userinfo.In_Out ==
Userinfo.transportation ==

’

Userinfo.terminalinfo[0] !="a

Currentinfo.lasttagtime — userinfo.lasttagtime < 180

PTS.UTC.2320 S Y8 ROtM st
A} St HEE AFEAL FEEQE T 7|0A
=
PTS.UTC2320.00 Trigger'0|2tE QA A Currentinfo.balance ==
Currentinfo. In_out =='1 X% Command == fputa
Userinfo.In_Out == Z3 Command == printf

Userinfo.transportation ==0
Userinfo.terminalinfo[0] =="a’

c.time

PTS.UTC.2330

PTS.UTC.2330.00 | Trigger'sts 22 A" Currentinfo.balance ==
Currentinfo. In_out == X% Command == fputa
Userinfo.In_Out == =3 Command == printf

Userinfo.transportation ==0

Userinfo.terminalinfo[0] !="a’
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Currentinfo.lasttagtime — userinfo.lasttagtime < 30

PTS.UTC.2330.01

Trigger"gts @a A"
Currentinfo. In_out == 1
Userinfo.In_Out == 0
Userinfo.transportation ==0
Userinfo.terminalinfo[0] !="a’
Currentinfo.lasttagtime — userinfo.lasttagtime <60

c.time

Currentinfo.balance ==100
X% Command == fputa

=3 Command == printf

PTS.UTC.2330.02

Trigger'2ts Ra AL

Currentinfo. In_out == 1

Userinfo.In_Out ==

Userinfo.transportation ==0
Userinfo.terminalinfo[0] !="a’
Currentinfo.lasttagtime — userinfo.lasttagtime < 90

c.time

Currentinfo.balance == 200
X% Command == fputa

=3 Command == printf

PTS.UTC.2330.03

Trigger'sts Q3 A4
Currentinfo. In_out == 1
Userinfo.In_Out == 0
Userinfo.transportation ==0
Userinfo.terminalinfo[0] !="a’
Currentinfo.lasttagtime — userinfo.lasttagtime < 120

c.time

Currentinfo.balance == 300

X% Command == fputa

=3 Command == printf

PTS.UTC.2330.04

Trigger'sts Q= A4
Currentinfo. In_out ==

Userinfo.In_Out ==

Currentinfo.balance == 400
X% Command == fputa

=3 Command == printf
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Userinfo.transportation ==0
Userinfo.terminalinfo[0] !="a’
Currentinfo.lasttagtime — userinfo.lasttagtime < 150

c.time

PTS.UTC.2330.05 | Trigger'e2ts = ALt Currentinfo.balance == 500
Currentinfo. In_out == X% Command == fputa
Userinfo.In_Out == =3 Command == printf

Userinfo.transportation ==0

1

Userinfo.terminalinfo[0] !="a

Currentinfo.lasttagtime — userinfo.lasttagtime < 180

c.time

Table 6 Test case Identification-X| 5}H

Identifier Input Pass/Fail Criteria

PTS.UTC.1000 ox{7t E}1 3}

=]
[Le

PTS.UTC.1000.00 | 727} & Unit.
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PTS.UTC.1100 \ HES ALK} FFEO|A OFX|QtO 2 Ef &l A|ZH M

PTS.UTC.1200 \ HF ALRX} FHEO| K{AE OFX|LOZ B E mESC

PTS.UTC.1300 \ HHO ALR A} FFEO| KEE OFX|LOZ B & &Mk HE

—

PTS.UTC.1500 \ HEO AL X} FHEO| MAHE| OFX|QtO 2 Ef1 &l CHYY| M2 &
PTS.UTC1500.00 Interfaces= Testing |2
PTS.UTC.1600 7X7t EfAE 2 Al 742 Y
8% # & MHRTXZ M X
S &=Lt
PTS.UTC1600.00 | LastTagTime userInfoOf X{%&

currentinfod| X%t

PTS.UTC.1400 \ WO ALRA} FPEO| MEE Xt MEZ FMESiCh

transportation
in_out
balance

terminalinfo

PTS.UTC.2000 Tag HEOIAM YU Hio} HEXZ|S 3 & 22t 300 ZASIALF HES

—

SHC}

PTSUTCI00000 | .27} 3 Unic 512! Speco@. o1 Tesing 271 I

PTSUTC2100 | S740| SX2 H=X| SHXIE SHEXOf mEfM case® Lbs
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PTS.UTC.2100.00 | 727t & Unit. tt=ot SpecC 2 QI Testing =7t
PTS.UTC.2200

PTS.UTC.2200.00 | State =="case &X}" X% command ==fputa
=3 command==printf
PTS.UTC.2300
PTS.UTC.2300.00 | State == “Case S}k}" X% command ==fputa

=3 command ==printf

PTS.UTC.2400

SHA| K&

PTS.UTC.2500 =20 C§3h WHO|= WotM QI 1F XY A|ZHO| C§3H MEZ cH2by|(of 7|

8 el )of et

PTS.UTC.1610 SX7} EfIE e Al @Ko ¢ HES QoA HEE Hoj|M O
g8 = Ue XPE?EE (= : ol tS 2 M3
8 Z=Ct O2|D 320iCH X7|3}

PTS.UTC.1610.00 | LastTagTime == 7?2

Transportation ==777 struct userInfo

. struct currentInfo
in_out == ???

secTime
balance == ???
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terminalinfo == ???
c.time != 03:00

PTS.UTC.1610.01 | LastTagTime == ??? Trigger”=2|3t”
Transportation == ???
in_out == 7?77
balance == ???

terminalinfo == ???
c.time == 03:00

=350

—

PTS.UTC.1620 37|00 A|340| EB SX7FIE 0]Qo] MEE %7|33t= commandZ
t.

PTS.UTC.2110 S7H0| &%}, % TE R HEZZ ALK MEQ HIYA|ZLS Qi
Of SXHQIX| & 2

PTS.UTC.2110.00 | Currentinfo. In_out == 0 Trigger"& XtControl”

PTS.UTC.2110.01 | Currentinfo. In_out ==1

PTS.UTC.2210

Trigger"&}XControl”

PTS.UTC.2210.00 | Trigger,"&XtControl” Trigger" 0| & Atzts"

UserinfoIn_Out == 0
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Currentinfo. In_out == 0
Userinfo.terminalinfo[0] == ‘a’
Userinfo.transportation ==1

Currentinfo.terminal[0] != ‘a’

PTS.UTC.2210.01

Trigger,"& X}Control”
Userinfo.In_Out ==
Currentinfo. In_out ==
Userinfo.terminalinfo[0] != ‘&’
Userinfo.transportation ==0

Currentinfo.terminal[0] != ‘a’

Trigger”0| g Ltets”

—

PTS.UTC.2210.02

Trigger,"&XtControl”
Userinfo.In_Out == 0
Currentinfo. In_out == 0
Userinfo.terminalinfo[0] != ‘a’
Userinfo.transportation ==1

Currentinfo.terminal[0] != ‘a’

Trigger"0| 0| &t5"

PTS.UTC.2210.03

Trigger,"& XtControl”
Userinfo.In_Out == 0
Currentinfo. In_out == 0
Userinfo.terminalinfo[0] == ‘a’
Userinfo.transportation ==

Currentinfo.terminal[0] != ‘a’

Trigger"7| 222"

PTS.UTC.2210.04

Trigger,"&XtControl”
Userinfo.In_Out ==

Currentinfo. In_out ==

Trigger"' 7| 222"
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Userinfo.terminalinfo[0] != ‘a’
Userinfo.transportation == 1

Currentinfo.terminal[0] != ‘a’

PTS.UTC.2210.05

Trigger,"& X}Control”
Userinfo.In_Out == 1
Currentinfo. In_out ==
Userinfo.terminalinfo[0] == ‘a
Userinfo.transportation == 1

Currentinfo.terminal[0] !=

Trigger"7| 228"

PTS.UTC.2210.06

Trigger,"& XtControl”
Userinfo.In_Out ==
Currentinfo. In_out ==
Userinfo.terminalinfo[0] == ‘a’
Userinfo.transportation == 0
Currentinfo.terminal[0] != ‘a’

Currentinfo.lasttagtime — userinfo.lasttagtime > 15

Trigger' 7| 222"

PTS.UTC.2210.07

PTS.UTC.2220

Trigger,"& XtControl”
Userinfo.In_Out == 1
Currentinfo. In_out ==
Userinfo.terminalinfo[0] == ‘a’
Userinfo.transportation == 0
Currentinfo.terminal[0] != ‘a’

Currentinfo.lasttagtime — userinfo.lasttagtime <= 15

ALEXEZE O 0] it S 429 2

AUS AMBH 3 of Eg3z W

o

Trigger" ™M Atets
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PTS.UTC.2220.00 | Trigger,"0|7d Atzt5E" Currentinfo.balance == 1750
Userinfo.In_Out == 0
Currentinfo. In_out == 0
Userinfo.terminalinfo[0] != ‘a’
Userinfo.transportation ==1

Currentinfo.terminal[0] != ‘a’

PTS.UTC.2220.01 | Trigger,'D| ™M &tzt5" Currentinfo.balance == 1650
Userinfo.In_Out ==
Currentinfo. In_out ==
Userinfo.terminalinfo[0] != ‘&’

Userinfo.transportation ==

Currentinfo.terminal[0] != ‘a’
PTS.UTC.2230 =
=1
O
PTS.UTC.2230.00 | Trigger,'0|QAt0|2tE" Currentinfo.balance == 1250

S
UserinfoIn_Out == 0
Currentinfo. In_out ==
Userinfo.terminalinfo[Q] !=

a
Userinfo.transportation ==1

Currentinfo.terminal[0] !=

PTS.UTC.2240

Currentinfo.balance ==

O
PTS.UTC.2240.00 | Trigger"dAt=t
UserinfoIn_Out == 1

Currentinfo. In_out == 0
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PTS.UTC.2250

Userinfo.terminalinfo[0] == ‘a’
Userinfo.transportation == 0
Currentinfo.terminal[0] != ‘a’

Currentinfo.lasttagtime — userinfo.lasttagtime <= 15

AMEAZE E|Z=ESO[ALE OO0 HAE RALE ZSAIZHO|

HEEZZE MEEL]

PTS.UTC.2250.00

Enable"7| 23"
Userinfo.In_Out == 0

Currentinfo. In_out == 0

[

Userinfo.terminalinfo[0] == ‘a
Userinfo.transportation ==

Currentinfo.terminal[0] != ‘a’

Currentinfo.balance == 1050

PTS.UTC.2250.01

Enable "7| 222"
Userinfo.In_Out == 1
Currentinfo. In_out == 0
Userinfo.terminalinfo[0] != ‘&’
Userinfo.transportation == 1

Currentinfo.terminal[0] != ‘a’

Currentinfo.balance == 1050

PTS.UTC.2250.02

Enable"7| 23"
UserinfoIn_Out ==1
Currentinfo. In_out == 0
Userinfo.terminalinfo[0] == ‘a’
Userinfo.transportation == 1

Currentinfo.terminal[0] != ‘a’

Currentinfo.balance == 1050

PTS.UTC.2250.03

Enable"7| 22 2"

Currentinfo.balance == 1050
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PTS.UTC.2260

Userinfo.In_Out == 1

Currentinfo. In_out == 0

Userinfo.terminalinfo[0] == ‘a’
Userinfo.transportation == 0
Currentinfo.terminal[0] != ‘a’
Currentinfo.lasttagtime — userinfo.lasttagtime > 15

LS FUS §HO U HEHN 2IHEF 0%

2| AHE HE=L.

PTS.UTC.2260.00

Currentinfo.balance ==

Userinfo.balance == ???

Money = Currentinfo.balance + 600
Userinfo.balance<Money

Enable/ &2 =",

PTS.UTC.2260.01

Currentinfo.balance ==

Userinfo.balance == ???

Money = Currentinfo.balance + 600
Userinfo.balance>=Money

Trigger' S &,

PTS.UTC.2260.02

Currentinfo.balance 1= 0

Userinfo.balance == ???

Money = Currentinfo.balance + 200
Userinfo.balance>=Money

Trigger' S &,

PTS.UTC.2260.03

PTS.UTC.2270

PTS.UTC.2270.00

PTS.UTC.2280

Currentinfo.balance == 1050

Userinfo.balance == ???

Money = Currentinfo.balance + 200
Userinfo.balance<Money

Enable/ &2 =",

X% Command == fputa

Z3 Command == printf




PTS.UTC.2310 AR SHAEfOE SIYE Al &S S =X O 8
EZ|AHE Ct8 Z2 M A0 M&Ss|=Ct.
PTS.UTC.2310.00 | Trigger “StAt Control”
Currentinfo. In_out ==
Userinfo.In_Out ==
Userinfo.transportation ==

Userinfo.terminalinfo[0] !="a

Currentinfo.terminalinfo[0] != ‘a’

Ver. 1.0

AeX2l ofF0of Chst

Trigger'D|2tE QA A"

PTS.UTC.2310.01 | Trigger “S}At Control”
Currentinfo. In_out == 1
Userinfo.In_Out == 0
Userinfo.transportation ==1
Userinfo.terminalinfo[0] =="a’
Currentinfo.terminalinfo[0] != ‘a’

PTS.UTC.2320 =3 5 A|ZbR R

2OFA Bl ot

FEAL =2t THE 7|0 A]

S =
PTS.UTC.2320.00 | Trigger"O|2t& QA A"
Currentinfo. In_out == 1
Userinfo.In_Out == 0
Userinfo.transportation ==1

Userinfo.terminalinfo[0] !="a’

Currentinfo.terminalinfo[0] != ‘a’

userinfo.terminalinfo[0] == 'b' Q&
currentinfo.terminalinfo[0] == 'b" |
(userinfo.terminalinfo[0] == ' Q&
currentinfo.terminalinfo[0] == 'c')
[| (userinfo.terminalinfo[0] == 'd' Q&
currentinfo.terminalinfo[0] == 'd")
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c.time

|| (userinfo.terminalinfo[0] =

currentinfo.terminalinfo[0] == 'e')

[| (userinfo.terminalinfo[0] =

currentinfo.terminalinfo[0] == 'f
Currentinfo.balance == 0
X% Command == fputa

=3 Command == printf

lfl

&8&

&&

PTS.UTC.2320.01

Trigger"Djgts QA4
Currentinfo. In_out == 1
Userinfo.In_Out ==
Userinfo.transportation ==

1

Userinfo.terminalinfo[0] !="a

Currentinfo.terminalinfo[0] = ‘a

c.time

userinfo.terminalinfo[0] ==
(currentinfo.terminalinfo[0] == 'f

|| currentinfo.terminalinfo[0] == 'c))

I (userinfo.terminalinfo[0] =
(currentinfo.terminalinfo[0] == 'b'
|| currentinfo.terminalinfo[0] == 'd")
|| (userinfo.terminalinfo[O] ==
(currentinfo.terminalinfo[0] == 'c'

|| currentinfo.terminalinfo[0] == 'e")

[| (userinfo.terminalinfo[0] =
(currentinfo.terminalinfo[0] == 'd'
|| currentinfo.terminalinfo[0] == 'f))

[| (userinfo.terminalinfo[0] =

(currentinfo.terminalinfo[0] == '€’

|| currentinfo.terminalinfo[0] == 'b'

Currentinfo.balance ==

X% Command == fputa

lfl

&&

&&

&&

&8&

&&
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Z3 Command == printf

PTS.UTC.2320.02 | Trigger"D|2ts QA A userinfo.terminalinfo[0] == b’ &&

Currentinfo. In_out == 1 (currentinfo.terminalinfo[0] == 'd’

UserinfoIn_Out == 0 || currentinfo.terminalinfo[0] == 'e")
Userinfo.transportation ==1 [| (userinfo.terminalinfo[0] == 'c' Q&

1

Userinfo.terminalinfo[0] !="a (currentinfo.terminalinfo[0] == 'e'
Currentinfo.terminalinfo[0] != ‘a’ || currentinfo.terminalinfo[0] == 'f))

ctime I (userinfo.terminalinfo[0] == 'd' Q&
(currentinfo.terminalinfo[0] == 'f'

|| currentinfo.terminalinfo[0] == 'b")

&&

1
™

I (userinfo.terminalinfo[0] =
(currentinfo.terminalinfo[0] == 'b'

|| currentinfo.terminalinfo[0] == 'c"))

|| (userinfo.terminalinfo[0] = I
(currentinfo.terminalinfo[0] == 'c’

|| currentinfo.terminalinfo[0] == 'd")

Currentinfo.balance == 200
X% Command == fputa

Z3 Command == printf

PTS.UTC.2330

PTS.UTC.2330.00 | Enable,/ 'zt QA A" (c == 'b" && currentinfo.terminalinfo[0] == 'b")

Currentinfo. In_out == 1 || (c == "' && currentinfo.terminalinfo[0] == 'c)

oH
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UserinfoIn_Out == 0
Userinfo.transportation ==1
Userinfo.terminalinfo[0] =="a’
Currentinfo.terminalinfo[0] != ‘a’

c.time

|| (c == 'd" && currentinfo.terminalinfo[0] == 'd")
|| (c == 'e" && currentinfo.terminalinfo[0] == "€

|| (c == "'f" && currentinfo.terminalinfo[0] == 'f'

Currentinfo.balance == 0

X% Command == fputa

=3 Command == printf
PTS.UTC.2330.01 | Enable,/ 'zt QA A" (c == "b" && (currentinfo.terminalinfo[0] == 'c' ||
Currentinfo. In_out == 1 currentinfo.terminalinfo[0] == 'f))
Userinfo.In_Out == || (c == "' && (currentinfo.terminalinfo[0] == 'd'
Userinfo.transportation == || currentinfo.terminalinfo[0] == 'b")
Userinfo.terminalinfo[0] =="a’ | (c == 'd" && (currentinfo.terminalinfo[0] == 'e'
Currentinfo.terminalinfo[0] != ‘a’ || currentinfo.terminalinfo[0] == 'c"))
c.time || (c == "e&" && (currentinfo.terminalinfo[0] == 'f
|| currentinfo.terminalinfo[0] == 'd")
|| (c == 'f' && (currentinfo.terminalinfo[0] == 'b'
|| currentinfo.terminalinfo[0] == '€’

Currentinfo.balance == 300
X% Command == fputa

=3 Command == printf

PTS.UTC.2330.02

Enable2t& 2 F A4
Currentinfo. In_out == 1
Userinfo.In_Out ==

Userinfo.transportation ==

c == 'b' && (currentinfo.terminalinfo[0] == 'd" ||

currentinfo.terminalinfo[0] == 'e')
|| (c == 'c' && (currentinfo.terminalinfo[0] == "€’
|| currentinfo.terminalinfo[0] == 'f))
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Userinfo.terminalinfo[0] =="a’ || (c == 'd" && (currentinfo.terminalinfo[0] == 'f'

Currentinfo.terminalinfo[0] != ‘a’ || currentinfo.terminalinfo[0] == 'b")

ctime || (c == 'e" && (currentinfo.terminalinfo[0] == 'b'
|| currentinfo.terminalinfo[0] == 'c")
|| (c =="'f" && (currentinfo.terminalinfo[0] == 'c’
|| currentinfo.terminalinfo[0] == 'd'

Currentinfo.balance == 600

X% Command == fputa

=3 Command == printf
Table 7 Test case Identification-%d 4t
Identifier Input Pass/Fail Criteria H|

PTS.UTC.1000 P70 MEEH HEE Q320 XA
PTS.UTC.1000 LastTagTime termInfod X%,

transportation

in_out

balance

terminalinfo
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ol 2Lia, =t

Ver. 1.0

PTS.UTC.2000.00

PTS.UTC.1100
PTS.UTC1100.00

PTS.UTC.1200
PTS.UTC1200.00

PTS.UTC.2100

PTS.UTC2100.00

Load(CHE 7| ZH EE)
getInfo(struct result* rr);
sortBal(struct termInfo* temp);
X|5HE2| HO[HE U RHOtA
LastTagTime
transportation
in_out

balance

terminalinfo

Mo HO|ES Qg oty HE
LastTagTime
transportation
in_out
balance

terminalinfo

Load(EtZ 7] ZHN HE), tick
getInfo(struct result* rr);

sortBal(struct termInfo* temp);

Transmit

print

termInfo 0 X%,

termInfod X%,

Case =&

Case M=

Team 4
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PTS.UTC2110.00

PTS.UTC.2120

PTS.UTC2120.00

Ver. 1.0

PHALE X5 At Fits
SHELHFEAIE 2 XE)

Subway corporation transmit, bus corporation transmit _

Load tick Enable/Disable”d AtAlSH"
getInfo(struct result* rr);

sortBal(struct termInfo* temp);

HAtEl S0 CHohA 282 XSt Mgtz JE

. o o= .
SiFD, HAE FUS SEL

Enable, Disable Save, Print

adjustment(struct result* rt);
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